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121, which completes; is it not logical that it should acquire

OVERVIEW
X117 27 derives that 7917 1s 712 (like 7R°2) 0w 'n03) through a 1"'p from f0>.
If 70> which is not 9 1s nevertheless 1P, then 7911 which 1s 7213 should
certainly be 711p. Our MdOIN explains why we do not invoke the rule of 17 to
refute this 1"p.

nooIn asks:
— 2N3%7 IDN 197 N1I%) 9NN ON)

And if you will say; let us invoke the rule 197 for the end of the =2ym %p -
— DYNT OIVN NP NAINT NI NIYNNT

Since from where do you derive that ;7917 is 771Ip; it is only because 17917 is

NI -
— 2405 XY IR X 903 9NN 1979 NN 11139 §AY PTH 1 NaY 157

It is sufficient that the derived ruling be as strong as the cause; just as by
the 1172, which is 7917, it is 722 only after the I of ne2, similarly also
here by the 7777 12 X3, it can only be 717 after the 71°3p of no>.

MooIN answers:
— (N,19 97 NP N323) VINT 4112‘1\? 9295 NININT 91219 W

"' See (however) the X"w7» who maintains that according to 1"7 when 7197 is AP it is also M.

> The 1"p under discussion here (as all 1"p) has two parts, the 9p and the 2van. The 9p part which is, ‘what if
70> which is not 3 (the 9p), it is nevertheless 71p’, is also referred to as "7 n2°nn; the beginning of the
1"p. The 2 part which is, ‘then 7911 which is 2 (the 2n17), should surely be 71p’, is referred to as 710
X1>7; the conclusion of the 1"p. It is self understood that the derivative ruling (in this case that 7917 is 71p),
also known as the 712, cannot be more (or greater, etc.) than the source (in this case that 703 is 71p) also
known as the 7a7n. This is the rule of 17. We can deduce that the stronger is (certainly) as strong as the
weaker; however we cannot deduce that the stronger is even stronger than the weaker and create a ruling by
the stronger which does not (even) exist by the weaker. Our NM1201n0 maintains that we can invoke the 17 rule
even on the 17 70. (See "1k 7"7 X,i712 p"2 o0 for further clarification.) The focal point of the 1"p is the
X of the stronger over the weaker. The rule of 17 argues since the cause why we are giving the stronger
this new law, is on account of the X117 it possesses, therefore the new law cannot be greater (not only than
the 7191, but not even greater) than the X1, The X1 of 7917 is that it is 3 after 103, therefore the 1"p
cannot accord it any other power except to be 71p after 70, but not to be 7117 on its own.

? See “Thinking it over’ # 1.

* »"1 maintains (in 2,75 ") that 17y pays a 07w P11 in the P17 Jxn. He derives it in the following manner. If
5371 1w who are 1"772 w9 (the X91p), are nevertheless 2 a w"1 in the P37 MW, then 19 which is 21 a
7"7112 praven (the X), should certainly be 2>1 a 09w P11 in the P37 nwA. The o°non argue and invoke the
rule of (X17 710K) 7. They say the &1 of 17p is that it pays a 7"712 11, then all that you can derive is that
it pays a 117 MwN2 1"n, but not a w"1 for that is more than the 1. To which v"9 replied; in that case it is
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And one can say that this discussion follows the view of 329% %29 who

maintains -
— 957 9N NY *919I01 P 79995197 X9

That wherever the 1''? will be refuted on account of 17 we do not invoke

the rule of 97 -
— PAVYN XY G0 INNRYT 9N 97 759959 17 NN N NI

And here if we would invoke 17 (which would mean that 7917 is 733 [only]
after n00) then the 1" is refuted, for to teach us that 11917 is 711 after 702,

there is no need for a 1"p. We must therefore conclude that the "7 teaches that 7917 is
71 without 702 preceding it.

nvoIn asks:
— 1Y NN NOINT 9N 11219 9NN ON)

And if you will say; that according to us who disagree with X177 27 and

maintain that 797 is not 719 —
— 9INT MINY HPMI G0 NN ) DT N1I*)

let us say that no> should be =92 after > and derive it from a Y''p of

aP-
— MINY PTION NNIPY 902 15929 AP NIIRY NN NN

What if by 72117 which is not 7312, nevertheless it is 9% (after 7192), so no2
which is 1192, is it not compelling that it should be 9233 (after 102).

N1B0IN answers:
— n9IND 9D ANK RIR MIY SNIIINY 581 KT 91299 W

And one can say that with this 1"p we will not be able to prove only that
ne> is A after o3, just like 71937 can be 1 (only) after 70> -

71909 INNN 9O IND NINTIN AN
so what it the strength of this second n9> over this (the first) 593. If the first
703 cannot be 7M1 how can we expect that an additional 703 will be 7112?!

SUMMARY

1"p 7190, for I need no 1"'p to teach me that 17p pays a P17 mwn2a 1"n, that is self understood without the
1". Therefore the 1" must teach us that 79 is 217 a P17 MYN2 w"1.

5> The interpretation of 1" 7°19°» here is that if we invoke 17, then the 1" becomes irrelevant, since the
derived ruling will have been known even without the 1"p.

® This would be a case of "7 on the 177 n2°nn where 71917 the 9p is only 1 after Ho2.

7 See ‘Thinking it over’ # 2.

2

TosfosInEnglish.com



7937 7"7 "0 2,7 PR L1702

The 1"'p of X177 27 is only valid according to 7197V °27, who maintains that
T AR K2 1" 97 K00, Tt s illogical to assume that by doing the same
73p twice that it will accomplish more than by just doing it once.

THINKING IT OVER

1. How do we differentiate between nm»doIn challenge to the 1"p (that we
should say 17)° and s'®21 refutation of the 1"p (that "y X5X N 791 DI12D
PTp)?’

2. mpoIn explains that we cannot derive that 70> 71X 702 should be M for
N0 RN H03 R NN wn.'? Let us however derive from the same 111"|? that
no> should be 1 after 7w, where we cannot say °Xin 702 R IR X1
Tow?!

¥ See footnote # 3.

? See n'"mi.

19 See footnote # 7.

" If 7991 which is not 1172 can be M after Tvw, so o3 which is 712 should certainly be 1 after qvw.
12 See [1xa] X",
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